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< 1,500
2 1,500
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36,600

194,416

£107,266

A K& A
667,816% * 261ha * 50/100

M

87,150

87,150
34,860
15,690
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202 044l 5,600 4,741 859
= 5,600
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01 eetEa= 17,967 11,580 6,387
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02 AABLMEEE 10,000 0 10,000
O=MASHEs FIFAH N
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Ostts SSE0 UK
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E 2,771
= 6,467
301 22 = 9,238 5,323 3.915
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1,000,000,000& = 60/100 600,000
=2 500,000
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=S 1,400
= 4,200
FAHX] GAP oHM Y 24H] KR ALY 123,480 83,212 40,268
= 61,740
& 18,519
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S 18,519
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IrgsaAc2g 362 30,306 A29,944
101 2124 H] 362 306 56
04 JIZtH2E2TSE+ 362 306 56
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= 327, 188
2 400,000
02 QI+ A A} 727,188 1,090,627 £.363,439
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202 04t 2,880 2,880 0
01 2ol 2,880 2,880 0
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307 212+0I & 200,000 200,000 0
02 212+ &AL 200,000 200,000 0
OrEs 24 ATH2XR (2SAIE)
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< 20,652
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c 4,000
2 16,000
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SSNESBEEE 93,700 58,600 35,100
201 Ler2 Y| 46,700 9,600 37,100
01 AR 2 2lt] 46,700 9,600 37,100
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A& 24,000,000& = 50/100 12,000
sSu&E E20HHE 407,600 258,200 149,400
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Xl 8,318
< 1,083
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201 2et23d| 10,500 10,500 0
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02 B2t AL AR E 10,000 0 10,000
ORZRC MAsNE 23+TNT RFY X
2 1,238,042 * 16,1534 * 50/100 10,000
ISELEET] 70,000 0 70,000
I A& 70,000 0 70,000
ORZIECHNE 212U
70,000,008 * 14} 70,000
=9 BHY 23 3,784,600 3,407,690 376,910
2 536,000
g 518,000
= 365,520
2 2,365,080
ST MAA LRI 2,331,600 2,199,690 131,910
2 380,000
p 358,000
< 213,720
2 1,379,880
N0 H4XI0I8 523 75,000 100,000 £.25,000
2 30,000
< 4,500
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£ 136,150

+ESHE SR/H XE

M H

100,000

30,000
70,000

214,000

114,000

307 2120l ™

A H

100,000

30,000
70,000

214,000

114,000

&
M2 S FHIXIE 100,000,000 * 14

M

100,000
100,000

30,000
70,000

214,000

114,000
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PN EEsS 0
B ol A U3
CHol: RCISRMAA LR CEER-ED
=) x| XH o|(s = o oH HEE =}
2o ANEEEIAA 200,000 180,000 20,000
402 SIt X201 M 200,000 180,000 20,000
01 QI Tt E2AL EE (KM THR ) 200,000 180,000 20,000
O2uE ANEEY X
5,000,000 * 20CH = 50/100 50,000
OdE AZIIch MEXAMS(ELNE)
150,000,000& * 14 150,000
2HE ZZ9H 24N 630,000 480,000 150,000
= 350,000
i 280,000
402 212t HE 01 A 630,000 0 630,000
= 350,000
= 280,000
02 QI X EAILEZ(0IHTHE) 630,000 0 630,000
OEXNESSZIHES LRI AL
700,000,000& = 90/100 630,000
= 350,000
= 280,000
ICTE=E 2ot A 60,000 0 60,000
| 24,000
= 10,800
= 25,200
402 It X201 A 60,000 0 60,000
| 24,000
< 10,800
= 25,200
02 Q2T EMLEEX(0IHTH) 60,000 0 60,000
OICTE=E &AHAE 120,000,000 * 50/100 60,000
| 24,000
< 10,800
= 25,200
DA MAH D 868,000 840,000 28,000
| 160,000
< 105,000
= 603,000
St AD et E & 380,000 80,000 300,000
301 EtE a3 250,000 0 250,000
NIEEa=3 250,000 0 250,000
Olgera==dl] 250,000
ORStUEHE E==0 XA
1,000& * 250,000kg 250,000
307 212t01 & 50,000 0 50,000
02 QI2FBAAIHE X 50,000 0 50,000
ORstl Exg¢lg fHEXE
50,000,000& » 14 50,000
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FA AEBsS
BH: =9 M U5
el BAHBAKD (el @
% . SIE|
SA - E .G (3H) - NRAY - BES 0fl & R0 RS2
402 212t XH= 01 80,000 80,000 0
01 QU XH=ALS 2 (XM THE) 80,000 80,000 0
OSst AEGRA XX
200,000,000& = 0.8ha * 50/100 80,000
NS EHLAESHUSALS 400,000 600,000 £.200,000
Il 160,000
< 72,000
a 168,000
402 @2t Xt=01 & 400,000 600,000 £.200,000
Jl 160,000
& 72,000
= 168,000
02 It T2 AL 2R (01 HTHE ) 400,000 600,000 £.200,000
ONZZYAMALSHUHSIALY
800,000,000& = 50/100 400,000
Jl 160,000
& 72,000
= 168,000
h+SEOHNE2SNHA 88,000 80,000 8,000
=S 33,000
= 55,000
307 2120l ™ 88,000 80,000 8,000
= 33,000
= 55,000
02 U B AAIEEX 88,000 80,000 8,000
OU+=SEOAHE 2SN AL
110,000,000& = 80/100 88,000
LS 33,000
[ 55,000
ASHHHSHAIH 585,000 368,000 217,000
= 156,000
& 46,800
i 382,200
AHB SIS 20,000 25,000 25,000
307 elztol ™ 20,000 0 20,000
02 UABLUMNEES 20,000 0 20,000
OLEtl &=t s
20,000,000& = 14| 20,000
Hdolstts N2 =SHATSE 312,000 0 312,000
= 156,000
= 46,800
= 109,200
402 12+ X201 312,000 0 312,000
= 156,000
S 46,800
=z 109,200
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X XH .
o=

ekl

B> Of 2
Jn e riee

B
O
1%
[

(=)
2 A
RS MM

SN - SAEH) - NRAY - BES Ofl &k 24 e HRE2
02 QI THEAMLBE(OIETHE) 312,000 0 312,000
ONM2REMARS(MIH2AE & M2+
)AL 520,000,000& = 60/100 312,000
= 156,000
< 46,800
i 109,200
1SHISEAE 100,000 200,000 2.100,000
402 QI2FXt=01 M 100,000 200,000 A100,000
01 QA XHEAIE E X (KM &) 100,000 200,000 £100,000
OISHISEAY 200,000,000& * 50/100 100,000
A SQAM ISSAHSRAE 4K 100,000 0 100,000
402 QIZ2tXt=201 & 100,000 0 100,000
01 QIEXE2 AN 8 2 (XHMITH ) 100,000 0 100,000
O SR UHSSAHFSIAIE XX
100,000,000& * 14l 100,000
ZUF= MaotsOt EHiHI R 50,000 90,000 240,000
307 glztol & 50,000 0 50,000
02 QI+ B AN E R 50,000 0 50,000
Q20173 & Z A F Mot BHHHI X &
50,000,000& * 14 50,000
DAY AIZES 29 3,000 3,000 0
308 XHXIEHMIS Ol ™ 3,000 3,000 0
07 XXX =RE 3 3,000 3,000 0
OnALY ANZES RE=
3,000,000& * 14 3,000
HH2ILH(MEE=E ) 68,356 66,964 1,392
Jl2dbl (e =gt 68,356 66,964 1,392
SHZMEI|I=ZHI 29,142 29,168 A26
201 2 EH2AY| 20,042 19,468 574
01 AtR2tell 15,200 14,700 500
Olger=gHl] 11,200
ORAN2Z SUH L 2,240,000& = 50! 11,200
Ol=&tl] 4,000
ORAM2Z SUH AL 88,0008 + 52 » 100 4,000
02 32244l 4,842 4,768 74
Ol2222 ¢ HAl 4,842
OSNHE ASEX S L5 2WE
1,960 * 2,4700K 4,842
202 (44l 5,500 5,500 0
01 =LHOIbI 5,500 5,500 0
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SN ABASAD
My ANSAAY (ABYSAD)
Sl D= A (AT S (ol @e)
% = P o =
FA-FHM-S2(SH) - HEAMY - BES Olf &t oK Ol &F 0H Hns2
Ol=2l] 2,640
ORNSY SN 8,008 * 39 « 110 2,640
202 Ol 4,320 4,300 20
01 24 0it 4,320 4,300 20
ORN2Y ZUHA 20,0008 » 301 » 722 4,320
HRES(ZeY=sAD) 1,100,000 100,000 1,000,000
TESIEE 1,100,000 100,000 1,000,000
SURHIIS 2Y 1,100,000 100,000 1,000,000
7020128E2 1,100,000 100,000 1,000,000
NEEEEE 1,100,000 100,000 1,000,000
OYSAPSALFIIZ 100,000,008 * 14 100,000
OSASIFASHEIIZ 1,000,000,0008 * 1A 1,000,000
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